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1- Widespread use of electric and electric circuits for communication, power

distribution, automation, computation, and other purposes makes it necessary for
diverse circuits to operate in close proximity. All too often, these circuits affect
each other adversely. Electromagnetic interference (EMI)* has become a major
problem for circuit designers, and it is likely to become more severe in the future.
The large number of electronic devices in common use is partly responsible for this

trend.

Today equipment designers need to do more than just make their circuits operate

under ideal conditions in the laboratory. Besides that obvious task, they must also

make sure the equipment will work in the “real world” with other equipment

nearby. This means the equipment should not be affected by external noise sources,

and- should not itself be a source of noise. Elimination ---- or really avoidance —-- of .

electromagnetic interference should be a major design objective.

Some of the most difficult and frustrating problems faced by design engineers
concern ghmination of noise from their circuits or systems. Most engineers are né(
well equipped to handle noise problems, since the subject is not normally taught in
engineering schools, and what literature is available is widely scattered among
many different journals.

Solutions to noise problems are usually found by trial and error with little or no

understanding of the mechanisms involved.

4- For RF exposure, field measurement equipment can be segregated into two types,

broadband and narrowband. Broadband instrumentation usually does not contain
frequency information and will indicate field strength independent of frequency.

Narrowband instrumentation enables assessment of both frequency and field

strength information over a selected frequency bandwidth. Spectrum analyses are

often used for this purpose. Broadband instrumentation is the most widely used for

RF hazard accecement duie to s ease of use and nortabilitv




